
164Yb Z = 70 N = 94 adopted link ENSDF link

Based on ENSDF from Oct 2022, and mass evaluation from 2020

BE = 1329.944 ( 0.015) MeV

Qbeta+ = 0.897 ( 0.029) MeV

Energy T J+ J- J-other T1/2

-----------------------------------------------------------------------------------------------

S-alpha= -2.627 ( 0.029)----------------------------------------------------------------------

164YB 1 | 0.000 0+ | | 1 75.8 M 17

164YB 2 | 0.123 2+ | | 2 932 PS 30

164YB 3 | 0.386 4+ | | 3 29.7 PS 10

164YB 4 | 0.760 6+ | | 4 5.02 PS 17

164YB 5 | | | 0.864 (2+) 5

164YB 6 | | | 0.976 (0+) 6

164YB 7 | | | 1.004 (3+) 7

164YB 8 | 1.073 2+ | | 8

164YB 9 | | | 1.144 (4+) 9

164YB 10 | 1.223 8+ | | 10 1.5 PS 5

----------- -----------------

164YB 11 | | | 1.323 (2+,3,4+) 11

164YB 12 | | | 1.336 (1,2+) 12

164YB 13 | | | 1.348 (5)+ 13

164YB 14 | | | 1.365 (4+,5,6+) 14

164YB 15 | | | 1.416 (1+,2,3,4+) 15

164YB 16 | | | 1.442 (5-) 16

164YB 17 | | | 1.500 (2+,3,4+) 17

164YB 18 | | | 1.513 (1,2+) 18

164YB 19 | | | 1.551 (4-) 19

164YB 20 | | | 1.565 (6+) 20

----------- -----------------

164YB 21 | | | 1.612 (1+,2,3,4+) 21

164YB 22 | | | 1.674 (7)- 22

164YB 23 | 1.753 10+ | | 23 0.82 PS 30

164YB 24 | | | 1.780 (7+) 24

164YB 25 | | | 1.785 LE 4 25

164YB 26 | | | 1.798 (6-) 26

164YB 27 | | | 1.874 (8+) 27

164YB 28 | | | 1.951 28

164YB 29 | | | 2.000 (9)- 29

164YB 30 | | | 2.123 (8)- 30

----------- -----------------

164YB 31 | | | 2.272 (9+) 31

164YB 32 | | | 2.284 (10+) 32

164YB 33 | | | 2.310 (8-) 33

164YB 34 | 2.330 12+ | | 34 0.55 PS 20

164YB 35 | | | 2.401 (11)- 35

164YB 36 | | | 2.483 (10)- 36
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164YB 37 | | | 2.597 (10-) 37

164YB 38 | 2.683 12+ | | 38

164YB 39 | | | 2.795 (11+) 39

164YB 40 | | | 2.825 (12+) 40

----------- -----------------

164YB 41 | | | 2.863 (13-) 41

164YB 42 | | | 2.864 (12-) 42

164YB 43 | 2.899 14+ | | 43 0.73 PS 20

164YB 44 | | | 3.012 (12-) 44

164YB 45 | 3.087 14+ | | 45

164YB 46 | | | 3.294 (13+) 46

164YB 47 | | | 3.305 (14+) 47

164YB 48 | | | 3.317 (14-) 48

164YB 49 | | | 3.378 (15-) 49

164YB 50 | | | 3.389 (16+) 50 1.75 PS 35

----------- -----------------

164YB 51 | | | 3.504 (14-) 51

164YB 52 | 3.696 16+ | | 52

164YB 53 | | | 3.753 (15+) 53

164YB 54 | | | 3.849 (16-) 54

164YB 55 | | | 3.863 (16+) 55

164YB 56 | | | 3.932 (18+) 56 0.74 PS 35

164YB 57 | | | 3.942 (17-) 57

164YB 58 | | | 4.066 (16-) 58

164YB 59 | | | 4.295 (17+) 59

164YB 60 | | | 4.391 (18)+ 60

----------- -----------------

164YB 61 | | | 4.393 (17+) 61

164YB 62 | | | 4.445 (18-) 62

164YB 63 | | | 4.468 (17+) 63

164YB 64 | | | 4.480 (18+) 64

164YB 65 | | | 4.552 (19-) 65

164YB 66 | | | 4.565 (20+) 66 0.29 PS 13

164YB 67 | | | 4.657 (18-) 67

164YB 68 | | | 4.704 (18-) 68

164YB 69 | | | 4.915 (19+) 69

164YB 70 | | | 4.965 (19+) 70

----------- -----------------

164YB 71 | | | 5.040 (19+) 71

164YB 72 | | | 5.068 (20-) 72

164YB 73 | | | 5.097 (20+) 73

164YB 74 | | | 5.183 (20+) 74

164YB 75 | | | 5.197 (20-) 75

164YB 76 | | | 5.206 (21-) 76

164YB 77 | | | 5.278 (22+) 77 0.173 PS 21

164YB 78 | | | 5.380 (20-) 78

S-p = 5.573 ( 0.016)----------------------------------------------------------------------

164YB 79 | | | 5.597 (21+) 79

164YB 80 | | | 5.611 (21+) 80

----------- -----------------
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164YB 81 | | | 5.688 (22-) 81

164YB 82 | | | 5.695 (21+) 82

164YB 83 | | | 5.804 (22+) 83

164YB 84 | | | 5.865 (22-) 84

164YB 85 | | | 5.907 (23-) 85 0.159 PS 21

164YB 86 | | | 5.961 (22+) 86

164YB 87 | | | 6.058 (24+) 87 0.132 PS +42-21

164YB 88 | | | 6.084 (22-) 88

164YB 89 | | | 6.273 (23-) 89

164YB 90 | | | 6.308 (23+) 90

----------- -----------------

164YB 91 | | | 6.339 (23+) 91

164YB 92 | | | 6.372 (24-) 92

164YB 93 | | | 6.429 (23+) 93

164YB 94 | | | 6.525 (24+) 94

164YB 95 | | | 6.606 (24-) 95

164YB 96 | | | 6.667 (25-) 96 0.159 PS 35

164YB 97 | | | 6.786 (24+) 97

164YB 98 | | | 6.848 (24-) 98

164YB 99 | | | 6.897 (26+) 99 0.104 PS +28-21

164YB 100 | | | 7.011 (25-) 100

----------- -----------------

164YB 101 | | | 7.067 (25+) 101

164YB 102 | | | 7.134 (25+) 102

164YB 103 | | | 7.149 (26-) 103

164YB 104 | | | 7.201 (25-) 104

164YB 105 | | | 7.218 (25+) 105

164YB 106 | | | 7.300 (26+) 106

164YB 107 | | | 7.405 (26-) 107

164YB 108 | | | 7.495 (27-) 108

164YB 109 | | | 7.646 (26+) 109

164YB 110 | | | 7.786 (28+) 110 0.049 PS +21-14

----------- -----------------

164YB 111 | | | 7.829 (27-) 111

164YB 112 | | | 7.887 (27+) 112

164YB 113 | | | 7.970 (27-) 113

164YB 114 | | | 7.977 (27+) 114

164YB 115 | | | 8.019 (28-) 115

164YB 116 | | | 8.059 (27+) 116

164YB 117 | | | 8.135 (28+) 117

164YB 118 | | | 8.265 (28-) 118

164YB 119 | | | 8.398 (29-) 119

164YB 120 | | | 8.715 (29-) 120

----------- -----------------

164YB 121 | | | 8.725 (30+) 121 0.083 PS +35-28

164YB 122 | | | 8.771 (29+) 122

164YB 123 | | | 8.871 (29+) 123

164YB 124 | | | 8.971 (30-) 124

164YB 125 | | | 8.999 (30+) 125

164YB 126 | | | 9.185 (30-) 126
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S-2p = 9.256 ( 0.015)----------------------------------------------------------------------

164YB 127 | | | 9.368 (31-) 127

164YB 128 | | | 9.645 (31-) 128

164YB 129 | | | 9.714 (32+) 129 0.083 PS 42

164YB 130 | | | 9.717 (31+) 130

----------- -----------------

S-n = 9.790 ( 0.021)----------------------------------------------------------------------

164YB 131 | | | 9.986 (32-) 131

S-p = 5.573 ( 0.016)----------------------------------------------------------------------

S-n = 9.790 ( 0.021)----------------------------------------------------------------------

S-2p = 9.256 ( 0.015)----------------------------------------------------------------------

S-2n = 17.334 ( 0.021)----------------------------------------------------------------------

S-alpha= -2.627 ( 0.029)----------------------------------------------------------------------

S+p = -2.719 ( 0.031)

S+n = -7.354 ( 0.031)

S+2p = -7.425 ( 0.032)

S+2n = -16.724 ( 0.017)

S+alpha = 3.227 ( 0.032)

gap p = 2.854 ( 0.035)

gap n = 2.435 ( 0.037)

gap 2p = 1.831 ( 0.035)

gap 2n = 0.610 ( 0.027)

gap alpha = 0.600 ( 0.043)
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